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= 45,000
= 13,500
= 1,500
SHESAAH (B HZAIA) 47,824 47,824 0
JI2HH (BHMEZAlA) 47,824 47,824
JI2ZH (BHEZAlA) 47,824 47,824
201 gEt24y| 26,224 26,224
01 AP 22| d| 26,224 26,224
Ogbt4=24| 8,800
Ol 6,000 * 229 * 11 * 128 17,424
202 o4 | 13,200 13,200
01 2L HI 13,200 13,200
OJlegelsd 50,0008 * 229 « 12€ 13,200
203 € R F=&d| 4,200 4,200
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HH2LZH (FHZAIY)
J2ZHI(BHEZAlY)

SA -2 BAEH) - ARAY - B il
04 NS 4,200 4,200
OFMEggRFAY 350,000& » 12& 4,200
204 X2 AH| 4,200 4,200
01 HeZ R4 4,200 4,200
OXMZ LRI Y| 350,000& * 12& 4,200




